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QUESTION 1

An administrator is troubleshooting an ESXi 5.x host and needs to export diagnostic information. The host is currently
managed by a vCenter Server instance. Which two ways can the information be gathered using the vSphere Client?
(Choose two.) 

A. Select Home. Under Administration, click System Logs and click the Export System Logs button. Select the affected
ESXi host. Select Select All. Select a location and click Finish. 

B. In the vSphere Client, select the affected ESXi host. Right-click the host and select Export Diagnostic Data. Select a
location and click OK. 

C. Log in to the ESXi host locally, Select Export System Logs. 

D. In the vSphere Client, select the affected ESXi host. Select File, Export and Export System Logs. Select Select All.
Select a location and click Finish. 

Correct Answer: AD 

You can collect information by selecting Home. Under Adminstration, click System logs and click export system logs
button. Select the affected ESXi host. Select Select All. Select a location and click Finish. To export system logs from
the ESXi host, the alternative way is to select the affected ESXi host in vSphere client. Select File, Export and Export
System Logs. Select Select All. Select a location and click Finish 

 

QUESTION 2

Which three features can be used in combination with network-attached storage (NAS)? (Choose three.) 

A. Datastores up to 64TB 

B. virtual-mode RDMs 

C. N-Port ID Virtualization 

D. Storage I/O control 

E. VMware Storage DRS 

Correct Answer: ADE 

In vSphere, you can use NAS with datastores up to 64 TB in capacity, storage I/O control and Storage DRS. NAS
supports all three of these. 

 

QUESTION 3

The vSphere administrator needs to migrate a virtual machine from one host to another. The virtual machine .vswp file
resides in local storage. Which two techniques can the administrator use to migrate the virtual machine? (Choose two.) 

A. vMotion migration 

B. Cold migration 
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C. Storage vMotion migration 

D. Enhanced vMotion migration 

Correct Answer: AB 

 

QUESTION 4

An administrator notices that the database virtual machines fail to backup within the backup window. Each database
virtual machine has 4 vCPUs, 16GB RAM and 12 virtual disks. There are 16 database virtual machines to backup using
8 backup jobs. 

Which is the simplest way to improve the backup performance for these virtual machines? 

A. Add a backup job for each virtual machine. 

B. Set a 16GB reservation for each virtual machine. 

C. Add 1MB VMDK drives at 1.0, 2.0 and 3.0 on the VDR appliance. 

D. Upgrade the array to 8GB FCP and ensure multipathing is configured properly. 

Correct Answer: C 

Reference: http://www.vmware.com/pdf/vdr_12_admin.pdf (page 10, see note) 

 

QUESTION 5

A new LUN from an existing storage array is presented to a vSphere cluster. A vSphere administrator determines that
the LUN is visible on all but one ESXi host in the cluster. The affected host is able to see existing LUNs presented from
the same storage array. 

What is the most likely cause? 

A. LUN Masking is improperly configured on the storage array. 

B. The SAN fabric is improperly zoned. 

C. The ESXi host has NOT been rebooted. 

D. The HBA in the host is incompatible with ESXi. 

Correct Answer: A 
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